1.

2. ?éﬁiiﬁTaﬁﬁiaﬁﬁ3?ﬂaq1§ﬁi§g
SeFe Hie H Tg & fg Iwm § am

_ WW—A | pART—A
R HE A Computer Related Knowledge

Jafees 1 el AT fha & § By
27

TCAT Y60 T HIAT 27

(A) SIS T

(B) TSR T8

(C) w3 %H

(D) T

FIIR Hl HH-FT T THEL T T

gTSaR ¥ gl 7
(A) HEETS

(

B) o o o

(C) & HE
D) fom

1.

4=

2.

Most applications of robotic are used in
area of

cooking

(A)
(8) manufacturing

(C) teaching

farming

(8)

0127672

Device which is used in stores to directly
read universal production code printed
on each product sold is called

(A barcode reader
(B) laser light
(C) spycam

(D) printer

Which component of a computer
connects the processor to the other
hardware?

(A) Motherboard
(B9 CPU
(C) Punch card

(D) Chip

% % frg s / SPACE FOR ROUGH WORK



4. What is the name of program that

¢ 2 i controls the computer system?
1 T F 87
(A) FTEAW (A) Hardware
$ae (B) Keyboard
(B)
(C) Software
(C) TIRAW
(D) Mouse
(D) #H=HE
GaNT SFehTeH! M6 (d|QFI?i|/€€ITCITU700g/27V@T12tb L e e
; L at best describes how an inkjet printer
5. %saraz et 9 # R B = T
? 8
‘ ' (A) One dot at a time to form a
(A) TH 3‘»}%\;{ M % foT o qwa character
U €l

(B) Spray-printing a character

(B) IR Hil W-{fen &
(G) Striking an inked ribbon

(C) ¥ FmT W WIssh =
(D) Dropping ink onto the paper

(D) TS W =l i &

6. What is another name for a dot matrix

6. ﬁzﬁ@?ﬂmwwwwé? printer?

_(A) 's":"?rar'c'ﬁ?? (M) Impact printer
(B) o Rt e (B) Page printer
C) B i " (C) Spray printer
O @ B=x., (D) Line printer

% % o g SPACE FOR ROUGH WORK
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10.

7. FE A @S- O SR R a
87

(A) THo WHo-TM
(B) I
) If=d
(D) (A) 3 (C) &

o ThHo ATy HIFETR I7 F Ty
HH-TT TSIfie Vefiohe T 31mar 27

(A) THo THo-=8

(B) THo THo-THA

(C) THo THo-TIeRwWES

(D) o THo-TeEd

YR | Hgl W e g 27
(A) TE I8 W
(B) 31w g8 W
(C) &+t ysi W

8.

(D) &% Y8i W Lo

10.

7. Which ofthe following is not an operating

system?

(A) WINDOWS
(B) LINUX

(c) DOS

(D) Oracle

7000727672

Which of the following is single-user
operating system?

(A) MS-DOS

~ (B) UNIX

(C) XENIX
(D) Both (A) and (C)

Which one is the spreadsheet application
that comes with MS-Office software

group?

(A) MS-Word

(B) MS-Excel

(CA MS-PowerPoint
(D) MS-Access '

By default footers are printed on

(A) first page
(B) last page
(C) all pages

(B) evenpages ' *

oo

& % & fre e / SPACE FOR ROUGH WbliK



11

12.

13.

14.

Merhie 2

(A) www

(B) HTTP

(C)y TCP/IP

(D) FTP "

F=foRee & @ -t J=EEe Eﬂg@
R gt &1 fewe efte

(A) www.google.com

(B)
(C)

(D)

www.justdial.com
www.localshops.com

www.yahoo.co.in

T doh-ie a8 T T 3o o
SR USRI T gRIET Hh
Teh 2a%h W gHCA Ll 8, HEAT &
(A) T

(B) ufdw #r srfipfa

(C) ferfdm

(D) T
T S dRE & AHARL W Ge &

2
(A) T UM
(B) g B

(C) B S

3T PRI T W gHEAT Al &, el

1.

The communication protocol used by
Internet is

A) Www
(B) HTTP
(& TCPI/IP
(D) FTP

SIS &TaH ) 000727612

12

13.

D) dFSRIm

14.

Which one of the following websites will
give you details of local shops?

(A) www.google.com

(BY" www.justdial.com

(C) www.localshops.com

(D) www.yahoo.co.in

A technique in which a program attacks
a network by exploiting |P broadcast
addressing operations is called

(A) Smurfing

(B) Denial of service
(C) Sniffing

(D) Spoofing

A computer virus normally attacks itself
to another computer programme known
as

(A)
(B} Trojan horse

target programme

(C) host programme

(D) backdoor programme

& %% ¢ S - SPACE FOR ROUGH WORK




15. VGA %1 U ®9 1 87 15. What is the full form of VGA?

16.

17.

(A) Visual Graphics Application (Ay Visual Graphics Application
(B) Video Graphics Application (B) Video Graphics Application
(C) Video Graphics Array (C) Video Graphics Array
(D) Visual Graphics Array (D) Visual Graphics Array
HedN T HAhleH! I UG &rad ) sfoo/2/672 ,
Prrfafiag 3 . o 16. Which one of the following is not an
S A image file format?
T8 87
(A) .img
(A) .img
(B) .png
(B) .png
(C) tif
(C) .tif
: (D) .jrg
(D) .jpg
17. 1TBis equal to
1 TB SUX gl @ 9
1 3
(A) 10° GB (A) 10" GB
(B) 10° MB (B) 10° MB
(C) 10° KB ' (C) 10° KB
(D) 37 aft A ‘ (D) Allofthe above

% & % fre 8 / SPACE FOR ROUGH WORK



19. f=fiRea & @ SF-w1 © 7T = T

20.

18. fowh goa % aR # T @l 27
(A) g% > fafdret > FF
(B) fiféret > At > ¢
(C) F > Y > Ryfdrex
(D) faféer > ¥ > B
TEINT SIGHT 7]
T R?
(A) Android
(B) iOS
(C) Chrome

(D) Gmail .

IS & O F SR ° FA1 T 27
(A) Tl areifén
(B) fafea et
() fafean senfen

D) ffsdahfr

- L

18. What is true about disk structure?

19.

20.

(A) Track > cylinder > sector
(B) Cyclinder > sector > track
(C) Track > sector > cylinder

(D) Cylinder > track > sector

© (tﬂqwﬂm [) 7000421642

Which one of the following is not a
product of Google?

(A) Android

(B) iOS

(&y Chrome

(D) Gmail

What is incorrect about the features of
YouTube?

(A) Video uploading

(BY Video analysis

(C) Video downloading

(D) Video searching

w %7 % forg e / 'SPACE FOR ROUGH WORK




WR—B ; pART—B
(1) ¥ =% / General Hindi

STl I o JATHR 9T 0T % T fpey
T R?

A) @
(B)

o) T
(D) 39 & ¥ W3 T

‘el Y aTd H SHidT 1 @ T,
a5 3 o & feg 31 5 A F g
fopT SR T HETH 87

g

(A) T FEam

B) fFvezars® F&am

(C) TEHETEh He™

(D) HTEFaTES FaA™
freferiaa # & wH-T1 999 G 7 7
(A) 3o 8 1 @A g foh T Tl deEn

21.

22,

23.

04, Prefeifad # & F01 WG T B
Wﬁq—m%?

(D) FY + 3T = YA
BTShTCHY TRATE (AIQER—IL&TIH ) 7000121672
TR T IR &
(A) FEle T TH-TH TR
[ -E 9Re 8ifs i el ||
(B) T &= g }, fop Tl A _Y
gl g o6 Tl 7, T Tt @ |

fere = st B o
(B) % 3 a1 § &l Ygal U, Jerdl

o (C) & R § A1 AW IE <H1 BRI,
) R R oo A A g A &UT ¥ ITeh! HS Tl TAet § AT

Rl T | (0) T e 3 # R 0 I
() I9gw oot @ @ Ref-Tepft st wremerd) wdh divef w310

% %[ & forg 518 / S
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o e & G

: et
26, e B 3 e oo # P AL A crid mgaﬁmmﬁ%m
g7 wm@ﬁmﬁﬂ—m%?

(A) HE: 13, 11, 13, 11

(A) m—gﬂﬁ"‘, ﬁéz ol

(B) FAWM: 13, 13, 11, 11

(C) AT 11, 13, 11,13 .
(B) ATM—YEd, g, M
(D) w11, 11, 13,13
TEINT SThIGH] W‘IG(CWQW@TCIT[ [) 7000727642 3
27. Preffed § & S-a1 g ‘3 ITEILH © fam—swm, o, 2
27
(A) I (D) i, B, F
(B) IS
(C) I | ' ' .
30, Prefefer § 3 FH-W TR T IR
(D) o et | 1 TTEATE WL TE 27
28, fafafes wedi & @ wH-a1 usg &
T % Y-vieR ¥ Wi ‘aoE IR A SRS
27 |
(B) €M
' (C) F°a
(C) wH
(D) &m ‘ (D) =Ry

W %1 % foT g / SPACE FOR ROUGH WORK



31.

32.

33.

(2) AT 37k | General English

Choose the correct feminine gender of
the word 'stag'.

(A) Vixen
(B) Hind
(C) Filly

(D) Goose
HeaNT 3ThigH! TG HITER

Fill in the blank with the correct
pronoun :

Rama and

were present in the
class. ‘

(A) me
(B) them
(C) |

(D) her

Choose the correct conjunction and fill
in the blank :

you try, you will not succeed.
(A) Unless
(B) If
(C) As

(D) But

He leaned _____

34. Fill in the blank with the correct
: preposition -

the wall.

(A) above

(B) to
f/eara9 ) y000121612
(C) against

(D) in

35. Select the correct passive form of the
given sentence . ‘

You cannot pump the ocean dry.

(A) Pump the ocean dry.
(B) The ocean is dry.

(C) Cannot the ocean dry.

(D) The ocean cannot be pumped dr

1 %@ % fre 58 / SPACE FOR ROUGH WORK



36. Choose the correct narration :

Rishi told him, "Your bag is new."

(A) Rishi told that my bag was new.
(B) Rishitold him that his bag was new.

\

(C) Rishi told bag was new. .

(D) Rishi told bag is new.

e 3TehigH! 916 (dregdi &y o

37. Which s the correct spelling for the word
meaning 'a friendly relationship'?

(A) Rappore

(B) Repore

(C) Rapport

(D) Reppore

rd
38. Select the correct antonym for the wo

'besmirch’.

(A) Honour
(B) Condemn
(C) Criticise

(D) Appreciate

39. Select the correct synonym for the word |
'wretched'.

(A) Shattered
/721672 (B) Clumsy
(C) Tired

(D) Miserable

40. One word substitution for 'A great lover
of books'.

(A) Biography
(B) Bibliography
(C) Bibliophile

(D) Biblical

1% %@ % RTt 98 / SPACE FOR ROUGH WORK




(3) W‘Tﬁ]a‘, General Mathematics

41, ST TH AT B 171 H W R e @

1v'IB?Iﬁ'lT 3TehIGHT m@ﬂm 7000

42. & (2013)%°*

43.

44,

ahﬂwm%m%w%mmamg
gy femn Sme, @ AYES wo By

(A) O
(B) 1
(C) 2
(D) 9
F WH W
ST 3 BT ?

A 1

(B) 3
©) 9
(D) 7

{(231)234 £ (102)2%4} @

1(213)12® 4+ (120)12%)
I VI UHEUE R FT?
(A) 333
(B) 222
(C) 123
(D) 234

I8 PH-U god g2 g § s gl
1553 Td 2175 Y WIT & YT SHAN: 3 W
599 g9 ?

(A) 31

(B) 370

(C) 15

(D) 310

41.

2/5’/92'

43.

44.

A number when divided by 171 gives
remainder 40. If that number is divided
by 19, then what will be the remainder?

A 0
(B) 1
© 2
(D) ®

What will be the digit at unit place of the
number (2013)**°?

A) 1
B 3

© °
D) 7

What will be the common factor

of {23124 + (10234 and

{(213)123 5 M0

(A) 333
(B) 222~
(C) 123
(D) 234

Which is the largest number which when
divides 1553 and 2175 gives respectively
3 and 5 as remainder?

(A% 31
(B) 370
(C) 15
(D) 310

% 1 & I S PACE FOR ROUGH WORK




1 1 1 1
45, 3§+333—2+ 333Z§+3333§Z
+33333§15— =

5

(A) 33333
3

(B) 5
121

(©) 123452
121

(D) 1370353—5

46.

47.

gfe x*y=2x+5y, a9 345, 5+3 ¥
fepamT wST B ?

(A)
(B)
()
(D)

2 wemait § @ veeh F T % @ gEd
¥ i T I SsA W 1200 WTH BT 8
STeeh! wgelt % uiE A H A gEl H dH
T "EM T 900 WH Bl @l a9 g
@A 1 I T B2

200

300

100

(A)

(B)
(C)

45.

46.

(D) 500

TUH ) 7000421642

47.

1
1 .
1 1 ,3333
3%+33—35+333 < R

1
+33333 —3—5— =

5
(A) 333335

B 5

121
(€) 12345

121
(D) 370355

If x*y =2x+5y, then how much 3x5
is greater than 5%37

(A) 2
(B) 4
(C) 6
(D) 8

From two numbers, if two times of first
number is added with three times of
second number it becomes 1200 while
from five times of first number if three
times of second number is subtracted it
becomes 900. Then what is the
difference between the two numbers?

(A) 200
(B) 300
(C) 100
(D) 500

% % & I g/ SPACE FOR ROUGH WORK
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48.

49.

50.

i SFATTG T3 T AN 55 R Sahy
g1d AT HEATAl B A 77 R w

qget ot ) T T TN T g Aoy

$ gEd B T HT IR RO R 7
(A) 5
(B) M
(C) 13
(D) 8

TH FR A T B @ 120 fFo o yfy
queT I A B TR AU B A A aF
80 femo o ufa Tver Y iy & witear R
gl e % faw IR sitaa nfy
fopaft B2

(A) 100 feo o /guer

(B) 200 feho Hio /EruaT

(C) 96 feo o /=ver

(D) 48 6o o /aver

35 et fryor # gy quT wiHt 1 3T
5:2 &1 T@d fepeen O+t TR fretren ST

fh T8 31U 5: 3 B U7

48.

49.

50.

Sum of five consecutive numbers is 55
while sum of seven consecutive numbers
is 77. Then what is the difference of the
greatest number of the first series and
the smallest number of the second

series?
(A) 5

(B) 11

(s

(D) 8

HEaNT S%EI?IET?I TG (IR @ ) soo0,21612

A car goes from A to B from the speed of
120 km per hour and returns from Bto A
by 80 km per hour. What is its average
speed for total journey?

(A) 100 km/h

(B) 200 km/h

(©r" 96 km/h

(D) 48 km/h

In the mixture of 35 litres, ratio of milk
and water is 5: 2. How much water
should be mixed so that this ratio
becomes 5 : 37

(A) 10 litres
:2 ;:i (B) 25 litres
(C) 5 e (-Q'f 5 litres
(D) 12 S (D) 12 litres

% ¥ % fre 98 / SPACE FOR ROUGH WORK
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is increased by

~ i
" ctangle Iength 200/’ i
51, I Freht s ) ored & 20% F1 A4 e 2530253 breadth is deccrtza:\sgelg \?v‘illl be o %
auT <ieTs # 209 &) wH WG I, Al then the area of new ré |
A & TGS o é
o) e A 1% decreased 5&
(A) 1% ‘q;!:ﬁ (B) 4% decreased ‘
(B) 4% i (C) 4% increased
(C) 4% g (D) Neither increases nor decreases
(D) 7 7 g 52. A person purchasing some oranges e
the rate of 60 in T 100 sells atthe rate of
52. U e $© W T 100 ¥ 60 H T H 70 in T 120. What is his profit %7
et T 120 § 70 H g ¥ = 2
IGHT A % TR B 7 (A) 20%
(A) 20% (B) 7%
B) 7%
6 (8] Zg%
(6] 27%
—
) D) 3=%
D) 32% | B o v
7 e SrenTeH) TS (NGGE &TH ) 700027672
53. Cost price of an article is 20% of selling
53. foe & T T Hod 39 9% % fosha price of that. Then what percentage is
Ol 1 20% 31 79 f95ha god 0 ed selling price of the cost price?
&1 foran gfowa 87
(A) 500%
(A) 500%
(B) 250%
(B) 250%
(C) 80% (C) 80%
(D) 96% (D) 96%

1% 1 % 0 S8 / SPACE FOR ROUGH WORK




54. T3 UH HIURY I A R F 10 ot §

HEANT ehleH! TG I &AM ) s00012]

T B ST ?
(A) 20
(B) 30
'(C) 40

(D) 374 | | HI3 TE

55. foreft fafeaa wohafe s B X & = 500

56.

&t gy 6 TN H QM B I}, @
24 ¥ §1g I8 TRt & Smwi ¢

(A) ¥ 8,000
(B) ¥ 6,000
(C) ¥ 2,000

(D) ¥ 5,000

fafdass/llme, a9 za+4b="

120f \\30°

(A) 95°

(8) 180°
(C) 360°
(D) 215°

54.

672 55.

56.

Some amount doubles in 10 years at the
rate of simple interest, then in how many
years it will become four times?

(A) 20

(B) 30
(C) 40

(D) None of the above

At the fixed rate of compound interest

¥ 500 doubles in 6 years, then how much
it will become in 24 years?

(A) ¥ 8,000
(B) ¥ 6,000
(C) T 2,000

(D) ¥ 5,000

In the following figure Za+ £b="?,When

[ m:

129 j

el

(A) 95°
(B) 180°
(C) 360°
(D) 215°

% %1 % forg sme / SPACE FOR ROUGH WORK



57. AB=18-2 o o e DE = 13 Ho o
I AABC ~ADEF . df% ADEF 1
qReTT 50 Fo o &, T AABC H1 T
T BRI ?

(A) 50 "o o
(B) 70 "o Hlo
(C) 110 ®o o
(D) 125 "o Hio

58. U GUEEYS H A T 39 Ho Hio
2| gft @s us fawd ) wETE
72 Fo o B, T T Ryapuil 1 TEETA

& o R B 7
(A) 30 To Ho
(B) 36 Wo Hto
(C) 42 Bo Hto
(D) 102 Ho Hto

59. ©Tg % S Teh TATN T HR 500 feho o
2| 7 zgeht mft formant 1 g i fomati

T 20% T &1 ST, AqY T T T 9K
fopamT BT ?

(A) 4 foho 7o
(B) 8 fro 7o
(C) 10 Teho Mo
(D) 125 fhoumo

60. @ WRES Sl & Fdal % ATHAl B

3T 7 : 58 G S=Tg i 31U 3 1

R T 399 ST ohT AT fohcrTn BT ?

(A) 143:225

(B) 225:143

(C) 25:21

(D) 374w # /@ HiE 7

<

s7. AB—182cm and DE

[GNT 3TehIGHT

58. Each side of arhombus

= 13 cm and

_If ADEF has perimeter
t will be the perimeter of

AABC ~ ADEF
50 cm, then wha

AABC?

(A) 50cm ,_
(B) 70cm ‘|
(C) 110cm 2
(D) 125cm

ITTS Feoliecs!
e gae e

of its one diagonal is 72 cm, then what
will be the difference of both diagonals?

(A) 30cm
(B) 36cm
(C) 42cm
(D) 102 cm

59. Weight of a cuboid made of métal is

500 kg. If all its dimensions are made of
20% of the dimensions of previous one,
then what will be the weight of the new
cuboid?

(A) 4kg

(B) 8kg

(C) 10kg

(D) 125kg

60. Ratio of surface areas of two hollow-

cylinders is 7 : 5 and ratio of heights is
3:1. Then what will be ratio of their
volumes?

(A) 143:225

(B) 225:143

(C) 25:21

(D) None of the above

& %1 % fT Smg / SPACE FOR ROUGH WORK




62.

63.

Four boys fire shots from their pistols

o1, SRy e § O i T Y e 1 ly. After that they fire at
TTEE N OED simultaneously. er that they fi
A S 4.’ 5,6 T8 HFe every intervals 4, 5, 6 and 8 seconds.
YT U Tt T 2 | Mo SR TRy How many times did they shoot
Meft qFM & 9=, 919 fiFe ®, § fRpa simultaneously after first shots in thirty
SR TH-TY el e €7 minutes?
(A) 14 (A) 14
(B) 15 (B) 15
©) 16 (C) 16
D) I F 3 w7 (D) None of the above
50 a1 3TchieH! TG Q&I ) y000 /21612
Q I B TYTH TS T WEwH 62. LCM and HCF of two numbers are 5083
FHTYEd SHAST: 5083 TUT 23 B Ife and 23 respectively. If one of the numbers
3% 391 2 i T 37 4 27 is 391, then what is the other number?
(A) 297 (A) 297
(B) 299 f (B) 299
(C) 393 (C) 393
D) 319 (D) 319
I 1
= A 4
(-0081)‘1‘ <5 T TH T 27 63. What is the value of (0081)1 X -5?
(-0016)* (0016)
A) (0-75)! (A) (0-75)7!
(B) (0- 75) B) (o 795)
(C) (0-75)2 (C) (0-75)2
D) 1.75 (D) 1.75

% %1 % foru s7g / SPACE FOR ROUGH WORK



64. AF om £ mor SR, T8

65. 35 faeRid & v wan # frnRi

66.

253 52
e o
(A) 1072
(8) 107!
(C) 10
(D) 10?

HgaNT 37ch

aftga Iy 17 ¥ 1 I HE b HE
Rrere o Ryl Y sitga sy 18 o
2, @ Rias A amg 2

(A) 53 a9

(B) 55T x

(C) 514
(D) 394w & @ HIE T
2 @ R S e A R,

azﬁmmmﬂﬁﬁmw
am?

(A) 5%
(B) 6 R
(C) 7=

65.

0 2w

64. Calculate the valu

(A)

(B)
(C)

66.

e of Awhen

(D) 1072

et TG (AQEI &TIH ) 7000121612

In a class of 35 students the average age
of students is 17 years. If average age
of students and their class teacher is 18,
then what is the age of class teacher?

(A) 53 years
(B) 55 years
(C) 51years

(D) None of the above

4
If a water tank is filled = part in 8 hours,

then what tlme will be taken in f|II|ng'
the half of the tank?

(A) 5 hours
(B) 6 hours
(C) 7 hours

8
(D) 3 hours

% %M & 7 Sz 1 SPACE FOR ROUGH WORK




HedT 3TepIeHt IavTe (AU &I ) so00/2/61¢

—ax(-b+c) =
s T W T HH .27, 67. What is the value of _‘E%_%‘F__Clx_c?
a(c - bj(-c) :
(A) (a—b) M
(a-b)
a(c—b)c
(B) a(c—b)c
a+b (B o
a(b-c)c
©) a+b (C) .Cﬂs__z_z_)i
D) 3 § AR T (D) None of the above
68. G HR A® 12 ' :
Q i ﬁ% e % s g 68. Two cars start from point A at a speed of
20 fRowflo/e? & =T & W A R | :

20 km/h at an interval of 12 minutes.
foraia fown & forg B8 w =fw waeht What is the speed of a man coming from
HR & GIY T I HET 2| gfe 5 a point B in the opposite direction if he
2 HR F 10 fFE & FT=a0e § e meets the cars in the interval of
%, 3t 37 =aRE Y TR T 20 10 minutes?

 (A) 4 fRotfio fd T v (A), 4 kmi
\ (B) 5km/h
(B) 5 Fosfto ¥fa Her (C) 6kmh
(C) 6 %°tﬁ° el = (D) None of the above
(D) 39Y<H H ¥ g & |
69. If a:b=23:4, then what is the value of
69. IR a:b=3:48, A a2 +1b%:(a+b) T e
T 0 R 87 ‘ :
(A) 16:25 (A) 16:25
(B) 9:16 (B) 9:16
(C) 25:49 (C) 25:49
(D) 39 ° | IS &I (D) None of the above
70. T FHATGHA 3 N ® STTHR I SIS 70. Diameter of the base of right circular
1059 8 as 3G FATR 918 12 39 solid cone is 10 inches and its vertical
2, @ 30 WF % Gag! U8 H &G H height is 12 inches. Then what is the
IR, surface area of the cone?
(A) 1557 3?' “ (A) 155x inches
(B) 155n it =9 (B) 155r square inches
(C) 90x 's’ﬁl (C) 90m inches
(D) 907 i E'a (D) 90w square inches

« 2
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b B s 1% AR

titude 5
(1) T WrAfs A / General Mental Apl ters at blank spaces of the |
J 71. Find the 1€ |
71. Preffaa srer-aof % fm Tl & o1

following letter series :

& 19 HITT : E,K,G,M1_.-————-"Q'M"____ 1
E,K,GM, QM _____ i
(A) L /N \
(A) L, N
(B) S, W B S
©) LU (€ LU
(D) K, S (D) K, S
TgaNT 3ThIGH UM(tﬂQﬂ?ﬁ/aqTqﬂ [) 7000727672

72.  Which of the following is different from
the others?

72. Fefifea § @ S-w1 s 9 @ B

4 Kolkata, Mumbai, Allahabad,
hIcTehIdT, JHTS, FATEEIE, fowat=ge Thiruvananthapuram

(A) HITHT, (A) Kolkata

(B) T (B) Mumbai

(C) IIRIETg : | (C) Allahabad

(D) foeaqqE | @) Thiruvananthapuram

73. f= Fifes oft o ﬁfﬂﬁ gEn § 73. Findthe migsing number in the following
number series :

P 1,3,6,5,7,10, 11, 13. 16
1,3,6,5,7,10,11,13,16, 21,24 e
A 17 (A) 17
(B) 19 By 19
(C) 15 (C) 15
(D) 39YH # & HI§ T (D) None of the above

T Pr % {0 T | ISPACE FOR ROUGH WORK
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: 0 ‘ TR - Which of the following will be next letters
RO SR 31113? 31&“ &, S+ : o in tI!\Z letter series given below?
few g sram-Aoft & 3 B
o BCDFHIJ
BCDFHIJ ' M
L
(A) LM &
() MN
(B) MN
(C) KL
(C) KL
LN
©) LN ®)
75. Find the missing figure from the answer
75. W o= @ fagw fom ww Hifde . figure :
STRIEH TG (NI &I ) 2000721612
wv for sw e Problem Figure Answer Figure
21,4243 23040404 Ta 2] 3 c 3 4c 4c 4
JDCEICERDEIADC IO E DL
0 0 720)| 72 0 : 0)||728¢,
Bl D 71 < I e e 43 3|3
1 2 3 4 1 2 3 4
(A) 1
(A) 1
(B) 2
! (B) 2
(C) 3
(C) 3
(D) 4
(> 4
76. Iic ‘BADMINTON’ hl Heag fdl a1 o -
) , ) ) ! ' is coded as
& ‘CBFOLOXSS' §, 7 ‘FOOTBALLS 'CBFOLQXSS', then 'FOOTBALLS' wil
&l Feag fRTSAM 3 be coded as
(A) GPPVECPQX (A) GPPVECPQX
(B) EPQWEEPPX (B) EPQWEEPPX
(GY GPQVEDPPX (C) GPQVEDPPX
(D) GPQVEDPQX ’ (D) GPQVEDPQX

% w1 % R S / SPACE FOR ROUGH WORK



77. IR ‘GORAKH = Fewg.fFan 1 &
‘769128’ &, ‘SHYAM' H FZ5% [l
TN § 18714’ ¥, q§ ‘KRISHNA' I
FHeag e s T
(A) 2981851

(B) 2991851
(C) 2891861
(D) 2990851

78. 3w Fm 8§ fage o sma A
e o T o

Rl B4 | 19108

[} 8'
i d as 769128,
: H' is code : e
- ];HcifiaAlfs coded as 18714', t
'KRISHNA' will be coded as
(A) 2081851
(B) 2991851
(C) 2891861

(D) 2990851
78. Find the missing figure from the answer
figure :

Problem Figure Answer Figure

Rrals | balale

(R R
IR R A) 1

A) 1 (B) 2

(B) 2 (C) 3

(C) 3 (D 4

(D) 4 IR STehIcH| TG (HTHAL &I ) 7000721612

79. Find the missing figqre from the answer
79. IW fa ¥ forem o 30 Hifdwe - figre:;

A = W = Problem Figure Answer Figure ,
@ . E—;EE;:W .r"’" i l'WL-N
- NOd® 4 iz AN e N N [ 1 ' 2 = iz A4

g x84 1 2 3 4

A) 1 A) 1

(B) 2 (B) 2
(C) 3 (C) 3
(D) 4 » 4

% %R % Tt S8 / SPACE FOR ROUGH WORK




80. =1 =t § forge wen @ iRt -

80, Find the missing number in the following

square :

33| 72 | 45 | 63
o7 o 22 ? 13
54 18 44 91
54 | 18 | 44 | 91
36 | 31 19 | 55
36 | 31 19 | 55
(A) 81
(B) 28 (A 81
(C) 18 (B) 28
(D) ST ® & wig & | () 18

(D) None of the above

81. afe o =i fefim ok s @ 0000 3, 1

%I 0001 &, 2 %1 0010 &, 3 ! 0011 &, .
471 0100 &, 5 0101 & 3 3 wre : ZSAEIEP?ZSB?ﬂai 22%2’()1()?5322816%
am oft, a8 f= v A fogw wEn and so on, then find the missing number
Hifore - in the following square :

0100| 0010 | 1001 [o100] o010 | 1001

0001 2 | o110 0001| ? |0110

0111 | 0101 | 0011 ‘ 0111 | 0101 | 0011
(A) 0111 (A) 0111
(B) .. 1000 (B) 1000
(C) 1001 (C) 1001
(D) 1111 (D) 1111

45 Z{ﬁ‘+’a§[3:f?j%‘+’,‘—’qﬂ3?9j%‘x ’ ﬁWW@W/@W)7&OO/2/5/2

Cma R e w4, 82. If'+'means'+','-'means'x’,'x' means
o, '-'and'+'means '+, then

B+3+5-4x6= 6+3+5-4x6=
(A) -22-2 (A) -222
(B) 184 (B) 184
(C) 16 (C) 16
(D) 25 (D) 25 ™
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83. Which of the following will replace the

8. 1 4 @ wiq-gy ww Brm (7) B question mark (?)?
foeenfia s 2
Y
b ([ 2
JNE X
A A

1v‘lg?iﬁ"‘T Gi_cl—TI'q"ﬁbr e /Cﬂﬁw [) 70007121612 ‘
(B)

@) ®) & ‘
(C) . (D). o [P ¢

84. ﬁﬁTm aa:f % 3111?‘1 ﬁl‘q’ ﬁ ﬁga"h Eﬁ 84. From the fO"OWing pattern, find the

T A HHfora - number of dots in the next figure :
AWAYIAVANE By W v v/
(A) 24 (B) 15 (A) 24 ®y" 15
€) 12 (D) 18 ' (C) 12 (D) 18

85. [t fl F1 3w w0 ym Hifvm
¥ aft B 3w § B, @ = aa?_ﬂm A 85. Using the following figures, find when B

T ? is at the top, which letter will be at the

bottom?

(9 P &

(A) E (B) F (A) E (B) F
€ D (D) A (C) D D) A
: & &4 % f%rq)/ans / SPACE FOR ROUGH WORK
W I N g k
¥ @ : .
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(2) "= 7= / aneral Knowledge

g6. e # & wH-T | &7 86. Which of the following is correct?

| agafe w Pt aves g Rt | President is elected by electoral
gt 2 ‘ college.

I, fat=es Aea & g fraffag Il. Electoral college consists of elected
gae B | R :lenlber;s ofl;the Parlial.'ntent.f A
ECIEED ; Ill. Electoral college consists of electe

1. HUS § W [ERIEELETR-T members of the State Legislature.

" ot %?:E%l IV. President is elected for five years.

' Ao & 21 V. Tenure of President can be extended

V. et H TP T FHRIw agrn in Emergency period.

T G B VI. A person who is natural Indian citizen

Vg T =fr St WA ‘;rrfﬁm AT can contest the election of President.
8, Tgufd 1 IS & Fohall B A 11V

A) | Il VvV -

® I VI Bhpll W

(C) |1 m v (c) 1l m v

o v O 1 IV
. . HedNT 3fehIeHl IATG T ) 7000121672
87. = § $H-TI/A WA /27 87. Which of the following is/are)correct? |
k. SN + = 3 I. A Judge for High Court is appointed
qgufd gRI Al St B by the President.
Il Tgafa, WRd % gEI = @ li. President appoints a Judge for the
qUHY SRt 3= =TT & ~rrefsr High Court with the consultation of
o ﬁ'gﬁﬁ T %I Chief Justice of India.
& = Pt Ill. President also consults with the
ull e g’ T ARl Governor of the State.
| IV. President consults the Chief Justice
IV, Tgul, 3= e % IeT <IrRH of the High Court too.
F oft Wt e 2 A) |
(A) ® 1
(B) | Il
(C) | Il 1] ) | nm
@ nomowv (o) N I T |1 Y

& 1 % fog g / SPACE FOR ROUGH WORK



88. WRA 1 T i fau @1 H I
mm%ﬁ@a—gﬁwﬁﬁﬂg'
98 foga fm @1 2, — L
HM?

(A) Tgafa
(B) TS¥9TA
(C) q&W <A™

(D) aﬁﬁﬁmaﬂtmm

SR

89. U Fydr, Ry W gR T W f
T 3R e afteg # S w36
feramr s forafea & €| o @ BIM?

(A) fader sama g s

@ R a% R oReg g ok A
T, | A€ HI o S

(©) T fyuw o 38 W RN wuf
(D) e Tgafy %t Geffa fr smom

90. WA U fohg FeAvE HI W1 & TS 27

(A) Wﬂﬂ@ﬁ?ﬁﬁ;ﬁm

(B) WM Feivet (B) Gragorian Calender
(C) WRAM HAveX (C) Indian Calender
(D) faspHt Sheivet (D) Vikrami Calender

88.

T STehIH! TG (ATQEHL&TaH ) 000721672

89. A bill having been passed by the

90.

a wants to contest the

lative Assembly but he |
d. Who can declare that

A citizen of Inc_h
election of Legis
is of unsound mind. \
he is of unsound mind?

(A) President

(B) Governor
(@) Competent Court

(3 Chief Medical and Health Officer

Legislative Assembly and sent _to
Legislative Council. In the meanwhile
Legislative Assembly is dissolved. What

will happen?

(& The bill will be lapsed

(B)

If it is passed by Legislative Council,
it will become law

The new Legislative Assembly will
reconsider on it

(€)

(D) It will be referred to the President

Which Calender is recognized in India?

(A) Babulal Chaturvedi Calender

T% %R % T S8 / SPACE FOR ROUGH WORK




o1. TN % frw g8 § “srovdms &
Rl %1 weor ygentha R

(A) FT=Dg 27
(B) 3<% 28
(C) éﬁ‘vﬁa 29
(D) AT=ST 30

aga’meazﬁmtﬁm(tﬂqwﬁm)m

92. TS YT % SYAWNN I Teeqd T &
fwa § wr wd T R0

IV.

(A)
(B)
(C)
(D)

=T, 9 & Y oft TeT ® yioey
fopam ST TeRa B

st <N fo 6t O e w oy
fopam ST weRaT

JEATd AEd o & foTe oe &
1/4 EE1 1 THITER TGS 2

T, Hed & dohleld Jeddl &
wgud & U@ g1 =T

T, Hed § I9fRd 3R AdgH
M 9 TRl % FgHd 8 I
g1 =f8Y

| N v
nom v
L

nm v

91.

0727672

92.

In WhICh Article of the Constitution, the
'protection of interest of minorities' is
provided?

(A) Article 27
(B) Article 28
(C) Article 29

(D) Article 30

What is not correct about the removal

- of the Deputy Chairman of the Rajya

Sabha?

|. The resolution can be initiated in any
House of Parliament.

[I. The resolution can be moved after a
prior notice of fourteen days.

Ill. Signature of 1/4 members of the
House is essential to introduce the
resolution.

IV. The resolution should be passed by
the majority of the then members of
the House.

V. The resolution should be passed by
the majority of the present and voting
members of the House.

A |11V
B) uwiiv
© v
O) wim v

& w1 ¥ fw g / SPACE FOR ROUGH WORK



93. Frferfm & e e s # g
B Yaeh-CTE e 3 graToreh {ifd—Rarst
o TR il foe e 7
(A) THEd
(B) TERA
(C) st
(D) fafre g7

HEANT 3TehTeHT TG A

94, = ¥ f=fRad # @ frg Ramea & =7g
st Tafer oft?

(A) ST
(B) TITehIST

(C) 3IFABHGTR
(D) R

Preferfad & & v 8 et ¥ s
TepT ) TR A R 27

35,

(A) TS
(B) TerzrepetT

(C) wfehen
(D) T

93.

94.

ot &9 ) so0012/612

95.

- SRR A P I T I AT B e
‘c WOka, the

.~ \Vedi
hich of the fol|0W'”§a nskaras from

Iyt on have been

social rituals
conception
described?

(A) Dharma-sutra
(B) Grihya-sutra
(C) Shrautsutra

(D) Vishista sutra

To which of the following kingdoms of
the Deccan, Chand Bibi belonged?

(A) Bijapur

(B) Golkonda
(C) Ahmednagar

(D) Berar

In which of the foIIowing' spheres, the
Mughals have greatly contributed to the
~Indian culture?

(A) Architecture -
(B) Painting
(C) Sculpture

(D) Dance

% %1 % {9 I8 / SPACE FOR ROUGH WORK



96. HETTHT Titht g1 wafdq

97.

98.

ﬁ’?&—lﬁmﬁ@

%Haﬁ?ﬁmﬁwq@aﬁmﬁﬁ

viftrerT v oft 7

TgalT 3rehreHl ATe digaEt amgH )
T T o TR 9 R & w3w
% 909 T 8 U armmm woaw S
T A7

(A) TS o

(B) e feHferem

(C) =g el foeta -

(D) @IS wIiSs feef

1929 ¥ 3 ¥ form ‘ged fagmam’
e H T Aty

(A) WM 3Hsgel THERR @i

96.

98.

In which of the following Movementg;
spearheaded by Mahatma Gandhi,
Sardar Patel played a leading role?

(Ay» Champaran Movement
(B) Kheda Movement
(&) Ahmedabad Mill Strike

(D) Bardoli Satyagraha

000 7%‘%, ./ !\t which of the following Viceroys a bomb

was thrown at the time of his entry into
Delhi on the occasion of transfer of

captial?
(A) Lord Curzon
(¥ Lord Linlithgow
(C) Lord Minto Il

(D) Lord Hardinge I

Who of the following founded the 'Khudai
Khidmatgar' organization in 19297

- (A) Khan Abdul Gaffar Khan

(B) Maulana Mohammad Ali

(B) WA HigHe 3efl
(C) 3T HAM IS (C) Abul Kalam Azad
(D) T Wiehd a7ef! (D) Maulana Shaukat Ali

% %1 & forg se / SPACE FOR ROUGH WORK



(D) A= &4

100. T Siver ¥ S BN 7
(A) Srsh g

(B) et R

) foee €t @i =imw
(D) S =

a7 Pieiied § @ fre whe &
forq sfire; 87

@A) YoREm
(B) hige

101.

(C) &

(D) SaETRe

99. Who of the fo

100.

TUH ) 7000721612

101.

lowing had initiated the

| Independence

'Bhudan’ Movement after

of India?

(A), Acharya Kripalani

(B) Acharya Narendra Dev
(C) Acharya Vinoba Bhave

(D) Acharya Karve
Who is the father of Human Geography?
(A) Friedrich Ratzel
(B) Karl Souwer

(C) Vidal de la Blache
(D) Jean Brunhes

Bombay High is famous for which mineral
from the following?

(Ay Petroleum
Coal

(B)

(C) Diamond

(D) Bauxite

T 1 & foT SR / SPACE FOR ROUGH WORK



102. ST %A B

102. Plantation agriculture is

45 , (A) paddy
B (B) wheat
‘(C) T (C) jute
Al @) tea

geaNT 3TchIcH! avTe (AQGIL &Iy ) 7000427612

103. VTS soura o fF9 3w % weam @ | 103. Bhilai Steel Plant was established with

wTid gam R ? cooperation of which country?
(A) Yo St (A) West Germany
(B) fsres | (B) Britain
. (C) France
(C) »E
(D¥ Soviet Russia
(D) Tifewra w9
104. Sikaser Dam was constructed on which
. river?
104. HHTR iy 1 Fmfor foper 7t T gan R ?
(A) IR (A Sodhur
(B) WEMG! (B) Mahanadi
(C) &&Q (C) Hasdeo
(D) ¥ | (D) Pairi

@ $1 & forg 578 / SPACE FOR ROUGH WORK



(A) =T
(B) IHivg
(C) SRR

(D) FATFEH

é@ﬂ’mmﬂ?ﬁﬁw

106. foresr o SEE 1w i wt e

107.

ferae 27

(A) 33
(B) 63
(C) 133

(D) 163

TR sreferaeen & fodiaes &9 9 fea
RS A femam T B ?

(A) fafmtor

(B) ferEd
() fmor

(D) @ Td I@™

105. Where ist

Te /dregdt &gy [ ) 700072767

106.

107.

i

he residencé area of Pygmy?

(A) Kenya
(8) Greenland
(C) Zaire

(D) Kazakhstan

What is per square kilometer population
density of the world?

(A) 33
(B) 63
(C) 133

(D) 163

Which is not included in secondary
sector of Indian economy?

(A) Manufacturing

(B) Electricity

~/

(C) Construction

(DY Mining and quarry

% FH % T 98 / SPACE FOR ROUGH WORK



108. ' 2001 & 2011 H 3Ry

109.

110.

; ST )
(A) 24-23 yfewa
(B) 19-7 yfamm
(C) 22-61 fewE
(D) 39 § | IS &I

ﬁmﬁﬂmﬂ%ﬁW%?
(A) Hehol TR IR A FHAa

(B) TS = I hi Hiw

(C) s TEH I

(D) & TEA

L 0GR J MU SN AP W
TR gl AT &7

(A) 1966-69 Hi iy
(B) 1978-80 i A4y

(C) 1990-92 i 3rafy

(D) 39 # & g T

108.

109.

110.

What is the decadal growth rate of
population in Chhattisgarh during 2001
to 2011 period?

(A) 24-23 percent’
(B) 19-7 percent
(C) 22-61 percent

(D) None of the above

EAOH ) 7000721672

Which of the following is called the
'National Income'?

(A) Price of gross domestic product
(B) Price of net domestic product
(C) Net national income

() Gross national income

Which period is called 'plan holiday' in
Indian Planning?

(AY 1966-69 period
(B) 1978-80 period
(C)

1990-92 period

(D) None of the above

@ %1 & fow S8 / SPACE FOR ROUGH WORK



M. ‘ga wife’ § frg wrdta waTEeEl &

112.

113.

AT g1 ST 8 7
(A) Wo @ T W
(B) wo IR it
(©) o T e
©) w0 hwE T
HEANT SrehTeH! AT (o]

“FfY wRa Y 3T ) T WA FeE
fem 87 ‘

(A) Ho TATEET Ig&
(B) e SR mikh
(C) o SR gl

(D) TETeHT e

wRa # facsht fafm gemem arfifam
(%) e o] R T ?

(A) 1973
(B) 1991

(C) 1997

(D) 2000

i 777%*

me Minister's name is

: 1
Revolution? 1

: ian Pri
111. Which Indian
linked with Green

(A) Late Lal Bahadur ghastri

(B) Late Indira Gandhi
(C) Late Morarji Desai

(D) Late Narasimha Rao 1
SAH ) 7000727672

112. "Agriculture is the soul of India.’

Who has given this statement?

(A) Pt  Jawaharlal Nehru
(B¥ Mrs. Indira Gandhi
(C) Dr. Zakir Husain

(D) Mahatma Gandhi

113. When was Foreign Exchange
Management Act (FEMA) implemented
in India?

(A) 1973
(B) 1991
(C) 1997

() 2000

% %™ & 7T 578 / SPACE FOR ROUGH WORK




114, Qﬂiaﬂasfﬁq‘\a@@m Teerhior &

115.

116.

sferRiy €, s,
A) I3, 5=
(B) 3=, v
C) I3, A=
®) T, G sreprertt s G

U HISH H1 319aeie (u ) fpa w vk
AT ] ? |

(A) WY *T A9
(B) Imufaa femor =1 et
(C) ureaw ) Wpid wF ifees argwen

(D) ST a+ff

1 gt o 1T & Teramsfierar % smm
R §¢d U § SFfRd iR -

| S
Il o

. Hafwm
Iv. difeam

A) lI<lll<IV<I

B) li<I<Ill<IV
(C) N<li<Iv<l

v<ii<li<lI

(D)

116.

114. The resistances of an ideal ammeter and

anideal voltmeter respectively are
(A)
(B) high, zero

zero, high

(C) =zero, low

(D) zero, infinite

Y &TIT ) 7000721672
115.

Refractive index (1) of-a medium
depends upon

(A)
(B)
(C)

temperature of the medium
wavelength of incident light

nature and physical state of the
medium

(3y All of the above

Arrange the following metals in the
increasing order of their reactivity
towards water :.

l. Zinc

Il. Iron

[ll. Magnesium
IV. Sodium

(A) N<ll<IV<I

B) lNl<li<ll<IV
C) M<l<IV<]

D) IV<li<ll<]

% %1 ¥ e 98 / SPACE FOR ROUGH WORK




117. F@‘t——laﬁ@ﬁ—uﬁgﬁ%ﬁmﬁﬂaﬁg

) TErrET & e S Sl HIRT
qa?_/ ?Zﬂ?——li
(a) ST wS fre @ aam wew () TRt
(b) wEffte qr S ST o1y (if) g
(c) watfrs smamaadd uig (iii) &
(d) S g deTh (iv) faRmm
(6) w=d geahruTg (v) =@
HIS:
(@8 () (c) (d (o)
A v v i i
B) iv v i i iif
© v i i i v
D) N W A e

g hIGH! IS (C

118. F-8 Faul & faerHl &1 T el
S I 37

(A) MgSO,, Na,SO,
(B) CuSO,, (NH,),S0,
(C) BaCl,, NaCl

(D) CH,COONa, CH,COONH,

and select

1 '——"
ith List—" " ¢ollowi
List—! W' using ng
17. Match *12  hswer bY
the correc
codes List—I!
List—I

H  Aluminium
(a) Best conductor of heat ()

and electricity

il Lead
(b) Most abundant metal (I'l'). L(;?‘0|d
(cy Most malleable metal (f'”) <
(d) Poorest conductor of (iv) Lithiu
heat
(v) Silver

(e) Lightest metal

Code : _
(@ () (¢ (@) (e)

(A) v v il i

B) iv v i i ifi

© v i @i @i

oy i i v v i
Qg &9q ) s00072/612

118. Which pair of solution of salts is acidic in

nature?

(A) MgSO,, Na,SO,
(B) CuSO,, (NH,),SO,

(C) BaCl,, NaCl

(D) CH;COONa, CH,COONH,

119
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119. A TR F gy
i . o Ry ? 119. Largest gland in human body is

) o

(Ay liver
(B) IT=rmIme

(B) pancreas
(C) fregeh

(C) pituitary
(D) IMIES

(D) thyroid

TSI 3chTeH] m(ﬁﬂﬂ?ﬁm) 7000127672

120. FEIRe g0 (RaTT) Ve war B

120. Most green algae live in

(A) = I °

(A) freshyvater
it o s 1 ey
©) E@:ﬁ w A (©) rocky coasts
(D) T I F T A (D) hot springs

& %7 ¥ forg 8 / SPACE FORROUGH WORK



121, 3ienm FreEm doamg % fFa @9 &

122.

123.

T Yareht gy < e g T R
(A) %El't’ﬁ%"'sﬁq

(B) i<t &

(C) TW g

(D) &=t g
g st I (feT, s

T e TR g 1 g T ¥
et 27

A) T
(B) aRTUTE

(C) hicTepTdl
(D) =3

é’ﬁﬁmém, 2018 T TS el ferd

T T

(A) feg
(B) UTA
() T
(D) TR

121.

123.

70007127672

122. Vande Bharat express connects Delhi toj

(B) Neil island
(C) Ross island

(D) Ritchie island

which city?

(A) M'umbai
(BY Varanasi
(C) Kolkata

(D) Chennai

Where was the Hockey World Cup 2018
organized?

(A) Delhi

(B) Bhopal
(C) Pune

(D) Bhubaneswar
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125.

126.

127.

(A) W=
(B) ==
(C) %
(D) Hfsan

STfieT < fohe It =Y oen)

[T aregeen 6t AT TouE it
fepem 22

(A) T IISA
(B) @easN
() f= fs s
(D) * BIeieten

59 TS & oy g9 wa =1 W ok
A W TG AT 8 ?

(A) Ho et T

(B) o HetoATer Il

() frft =Tan

(D) R e &g -

S{hlq]
2020 %

124.

125.

Y -G

Where the annual meeting of the Worid
Economic Forum took place?

(A) San Francisco

(B) New York
(Gy United Arab Emirates

(D) Switzerland

The winner of Australian Open 20:|9,
Novak Djokovic is a player of which
country?

(Ay" Japan
(B) China
(C) France

(D) Setbia
TYH ) 7000727672

126. Which city of Brazil is declared as World

Capital of Architecture for the year 2020
by UNESCO? '

(A) Sau Paulo

(B) Salvador

(©) Rié de Janeiro
(D) Fortaleza

127. After whose name the Legislative

Assembly building of this State is kept?
(A) Pt. Ravishankar Shukla

(B)
(G) Mini Mata

Pt. Sundarlal Sharma

(D) Veer Narayan Singh

e
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r of opposition in the

128. 38 U9 < Rygm @ # SfwE F AW 128. Who is the leade e
87 Legislative Assembly of this Sta
Dharamlal Kaushik
(A) HATST HIH (4 Dhara
; () Charan Das Mahant
B) IWCH : '
o 1% (C) Raman Singh
©) v e (D) Brijmohan Agrawal
(D) FomIET TSI TGN STERTHT mmﬁm)mawwmg
; 129. Guru Ghasi Das National Park s located
129, 1% HTEN T T I ¢ T S e o in which of the following districts of this
3 frm frer 3 R 27 State?
(A) SHRIT (A) Jashpur
(B) I (B) Koria
(C) WYL (GY Surajpur
(D) Sarguja
(D) 1S
N E < T T ¥ el T S 130. Where is cassiterite ore found in the
?? State?
A ) (A) Dantewada
(B) TIRATEG (B) Gariyaband
(C) T (C) Kanker
(D) FERI™ (D) Kabirdham
131. 5 # & forw TeTsraTd 1 $TRA 1 ERID] 131. Which of the following waterfalls is known
SUTq HET ST & 7 as Niagara Falls of India?
(A) drerTe (A) Tirathgarh
(B) 3Hau™ (B) Amritdhara
(C) FERe (©f Chitrakote
(D) HTUSET (D) Mandwa
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(D) 3gfEn
T C’rl)EFIE'Jﬂ TG (AT & ) so00127

134. 330 Hio Hio frdhe fava w9 2019
w1 AR e 7 & fpg 2w § R

SRR ?
(A) FTIUS TH THicAvs
(B) niggferan
(C) pfictus.
(D) TS T deH

135. 2018 T T TEHR fe |
AT 87

o

o fre yH

72

132. Arjuna Award winner of 2018, Manika

133.

134.

135.

Batra is related to which sports?
(A) Table tennis

(B) Lawn tennis

(@) Cricket

(D) Hockey

2018's Jnanpith Awardee writer Amitabh
Ghosh is a writer of which language?

(A) Hindi

(B} English

(C) Bengali

(D) Assamese

ICC World Cup Cricket 2019 will be

organized in which of the following
countries?

(A) England and Scotland
(B) Australia

(C) New Zealand

(D) England and Walgs

Booker Prize of 2018 is received by which
of the following?

(A) George Saunders

(A) SISt ai-sd
= A (B) Paul Beatty
B) 9Id
i Qq'['q':\cf (C) AnnaBurns
(C) UL
(D) ma‘hﬁm (D) Marlon James -« .-




(4) Toa Y AR e | General Knowledge of Staté

g dynasties had

A . ; - in
136. Frafirfe 3 & fow qom A WO A | 136, :’::;g’t'hi"sf Stth;ef?;'f ‘e longest time?
oY oS gHY qeh e {6 ?
(A) W (A) Sharabhpuriya
Kalchuri
(B) q;a-.gﬂ- (BY Ka
(C) i (C) Bhonsla
(D) ®m (D) Soma
aERE 00047 hich of the following works is not
137. feaferfed & @ w0 H gq T & . associated with the first Maratha ruler of
o TS T, Ferearrelt siiger & gefte this State, Bimbaji Bhosla?
T : (A) Introduction of 'pargana’ system
A) TEMT TGHd BT TN
4 (B) Amalgamation of Ratanpur and
(B) TR Td TR T ThIehToT Raipur
(C) TR § TW HfeT i Ffor (C) Construction of Rama temple at
Ny Ratanpur
(D) ‘GISRY’ ST 1 FIAIId
) (D) Introduction of 'subedari' system
13 ik ﬁb_a : ﬁ ga T 138. In which of the following months all the
AR whic R Wty g H geerd feudatory kingdoms of this State were
N7 merged in Indian Union?
(A) fordsw, 1947 (A) September, 1947
(B) 3TpeR, 1947 (B) October, 1947
) fowsn, 1947 (C) December, 1947
(D) S, 1948 (D) January, 1948
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139.

140.

141.

142.

(A) ﬁque

(B) Ty e
(C) VT U
(D) SR ure

T T 1 Pierfam # & S o

T &6t sTggfm SR 3 R s
T e

(A) =R

(B) T

(C) ®mmg
(D) TTE

TEaNT ShIGHT
$H ST % 2019-2020 & o & Hiy &
& fore f=ferfea 9 @ frat gl =
FATere fopam T B2

(A) 21,597 FUS
(B) 22,400 IS
(C) 25,295 HUS
(D) 26,350 S

Rreiferfad 7 @ 9 %ﬁmﬁsﬁmﬁ
P TR v Yoyt S i 51
gftrerd &1 WRfiegR 87

A femE FE

140.

141.

g SThIGH]

142.

139. Which of the following 'pat' is the highest

in the northern part of this State?

(A) Main pat
(BYy' Samri pat
(C) Jarang pat
(D) Jashpur pat

TG (NS &aH ) 700027672
Which of the following Lok Sabha
constituencies of this State is not
reserved for Scheduled Tribes?

(A) Bastar

(B) Kanker
(&' Sarangarh
(D) Raig;arh

TG (NQGH &I ) 000727672

Which of the following amounts is
allocated for the agricultural sector in the
budget of 2019-2020 of this State?

21,597 crores
22,400 crores
25,295 crores
26,350 crores

(A)
(B)
(C)
(D)
Which of the following companies is the
51% shareholder of the Bharat

Aluminium Company of Korba in this
State?

(A) Reliance Company
(B) Tata Steel Company

J2) Starlite Company
(D) NTPC
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140.

141.

142.

=T e’ T e S &7

(A) Bure

(B) T e

(C) SR U

(D) S 9re

39 U &1 =fafad 3 @ 91— a6
T & SR ST % fr s
T 27

(A) T=R

(B) It

(C) awTg

139.

140.

Which of the following 'pat’ is the highest
in the northermn part of this State?

(A) Main pat
By Samri pat
(C) Jarang pat
(D) Jashpur pat

Which of the following Lok Sabha
constituencies of this State is not
reserved for Scheduled Tribes?

(A) Bastar

(B) Kanker
(oY Sarangarh
(D) Raig;arh

(D) e
39 U9 % 20192020 % <€ # HiY &
¥ fqu Prafafaa § @ fpaft avafy
Free foman T 27

(A) 21,597 S

(B) 22,400 F'$

(C) 25,2953

(D) 26,350 H13

Preferfag & @ BA-Ht Hw 38 T |
S X wa Yegfifam Ferh 6 51
g & 9rfiR 27

(A) R He

(B) ARSIl

(C) TeRwTEe FFH

(D) o dho o Hio

141.

142

qedanT \'HclnquLﬁ A6 (@W/@Tﬁﬂ)moqmm&

Which of the following amounts is
allocated for the agricultural sector inthe
budget of 2019-2020 of this State?

(A) ‘21,597 crores
(B) 22,400 crores
(C) 25,295 crores
(D) 26,350 crores

Which of the following companies is the
51% shareholder of the Bharat
Aluminium Company of Korba in this
State? ~

(A) Reliance Company

(B) Tata Steel Company

{2) Starlite Company

(D) NTPC
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143, W Ry € $ TR B

144.

145.

146.

PreforRas § & w—dt do 3@ T |
SWEIRIEE §

(A) TN S QST .

(B) IIHAM AT FSHT

(C) ATTHM WRA AISHT

5 U5 1§ freffaa & @ fea &9 |
Tt e free shrie T8 27

(A) SI-TEU & Y

(B) TS &

(C) Serfireh f3emm

(D) e A
Preaferiaa % @ fre & § 58 TS
Hﬁaﬁfﬁotﬁwﬂaﬁwﬁmm
27

() AR T

(B) Hrfgex

(C) FuI-¥al

(D) AT T I

58 T N RERT gAe] S F
Freforiaa @ @ form repfia <t Hee R 7
(A) TS
(B) AR i@
(€) @ T

144.

145.

(D) F

143. Which of the foll

q gl ammH [) 7000121672

146.

owing schemesecr)‘:
medical care of the Qentral C;overnm
is implemented in this State !

Pradhanmantri swasthya Yojana

Ayushman Bima Yojana
Ayushman Bharat Yojana
Pradhanmantri Chikitsa Yojana

(A)
(B)

L)
(D)

e following areas the Rajiv |

oot s not working in this

Gandhi Mission i
State?

(AY’ Water collection area management |

(B) Food safety

(C) Primary education

(D) Health services

In which of the following fields the Pt
Ravishankar Shukla Award is presented
by this State every year?

(4) Communal harmony
(B) Literature
(C) Social service

(D) Emancipation of women

Which of the following folk-songs is
related with the traditionally nomadic
community of this State?

(A) Dholamaru
(\9)‘ Dewar-geet
(C) Jawanra-geet
(D) Dhankul

S o
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147, W a6 e & of this
SR To which of the following tribes
q T’ Fhm H‘Eﬁ%mﬁ%ﬁ; i ik Sct)ate the 'Parab' folk-dance is related?
(A) #rfem - (A) Maria
(B) g&an / (B) Dhuruwa
©) e ( (C) Muria
(D) &Rem (D) Dorla
148. @ ] % e § @ frg a3 148. Inwhich of the following folk-songs of this
W W THART H GehiaE % wq & State the 'Sarangi' or 'Ektara' is used as
o) o S 27 musical instrument?
(A)  Wrh ¢X) Bharthari
(B) ga3m (B) Sua
(C) uefifig (C) Panthi-song
(D) s (D) Bans-song
qeuNT STehreHt TTe| QG &as ) 000121612
149, ﬁwi%r&qa T s dwo s 149.  As which of the following Pt. Buddhaditya
W H@Gﬁ am Mukherjee of this State is known
R A internationally?
ST 87
A) E’Iﬁﬁ'ﬂ'ﬁm (A) Harmonium player
(B) m ; @B) Flute player
(C) RiaraTe® (C) Sitar player
(D) dIAEICH (D) Tabla player
150. ¥9 TS § W ufyer §9e gow 38 @ 150.  Who of the following was the first woman
CoE R eﬁ? member of Parliament from this State?
(A) TGOS qugy (A) Saroj Pandey
(B) ew <ot fig (B) Rashmi Devi Singh
(C) TSmIH &t (C) Rajmohini Devi
(D) Pt mma a2 (Pr MiniMata
\9:
1 ,
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